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If the toll will be decreased 30 percent, will you convert to using
expressway? (¥1150 - ¥800)

1. Yes 2.No
1
v v
How about if the toll wil be How about if the toll will be
decreased 20 percent, will you decreased 50 percent, wil you
convert to using expressway? convert to using expressway?
(¥1150 O ¥900) (¥1150 01 ¥600)
1. Yes (Finish) 2. No (Finish) 1. Yes (Finish) 2. ll\lo
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expressway?

What is the reason why you dont want to convert to

1. The cost should be reduced as much as possible
2. Time savings benefits is very minimal
3. Others. specifv
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At what toll level will you convert to using expressway?
1.( )% discount

2. Toll free
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